
MULTIPLY BY SKIP COUNTING ON A NUMBERMULTIPLY BY SKIP COUNTING ON A NUMBER
LINELINE  

3 X 3 = ___ 

FOR EACH MULTIPLICATION EQUATION, USE THE NUMBER LINE AND SKIP COUNTING TO FIND THE
ANSWER. 

GRADE 3 MULTIPLICATION WORKSHEET 

8 X 4 = ___ 

4 X 2 = ___ 

5 X 7 = ___ 

6 X 6= ___ 

2 X 7 = ___ 

8 X 3 = ___ 

9 X 4 = ___ 

7 X 6 = ___ 

6 X 8 = ___ 

5 X 6= ___ 

8 X 8 = ___ 
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MULTIPLY BY SKIP COUNTING ON A NUMBERMULTIPLY BY SKIP COUNTING ON A NUMBER
LINELINE  

3 X 4 = ___ 

FOR EACH MULTIPLICATION EQUATION, USE THE NUMBER LINE AND SKIP COUNTING TO FIND THE
ANSWER. 

GRADE 3 MULTIPLICATION WORKSHEET 

8 X 3 = ___ 

4 X 6 = ___ 

5 X 6 = ___ 

6 X 8= ___ 

2 X 8 = ___ 

8 X 6= ___ 

4 X 4 = ___ 

8 X 6 = ___ 

5 X 8 = ___ 

9 X 6= ___ 

3 X 8 = ___ 
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MULTIPLY BY SKIP COUNTING ON A NUMBERMULTIPLY BY SKIP COUNTING ON A NUMBER
LINELINE  

FOR EACH MULTIPLICATION EQUATION, USE THE NUMBER LINE AND SKIP COUNTING TO FIND THE
ANSWER. 

GRADE 3 MULTIPLICATION WORKSHEET 

9 X 9 = ___ 

8 X 8 = ___ 

2 X 1 = ___ 
8 X 7 = ___ 
9 X 6= ___ 

4 X 7 = ___ 

9 X 3 = ___ 

4 X 4 = ___ 

8 X 2 = ___ 
1 X 7 = ___ 
8 X 6= ___ 

3 X 7 = ___ 
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MULTIPLY BY SKIP COUNTING ON A NUMBERMULTIPLY BY SKIP COUNTING ON A NUMBER
LINELINE  

FOR EACH MULTIPLICATION EQUATION, USE THE NUMBER LINE AND SKIP COUNTING TO FIND THE
ANSWER. 

GRADE 3 MULTIPLICATION WORKSHEET 

6

7 X 9 = ___ 

3 X 8 = ___ 

2 X 8 = ___ 

6 X 7 = ___ 

2 X 6= ___ 

4 X 9 = ___ 

4 X 3 = ___ 

3 X 7 = ___ 

8 X 9 = ___ 

2 X 7 = ___ 

8 X 4= ___ 

5 X 9 = ___ 
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MULTIPLY BY SKIP COUNTING ON A NUMBERMULTIPLY BY SKIP COUNTING ON A NUMBER
LINELINE  

FOR EACH MULTIPLICATION EQUATION, USE THE NUMBER LINE AND SKIP COUNTING TO FIND THE
ANSWER. 

GRADE 3 MULTIPLICATION WORKSHEET 

6

7 X 4 = ___ 

3 X 6 = ___ 

2 X 6 = ___ 

6 X 4 = ___ 

4 X 6= ___ 

5 X 9 = ___ 

4 X 5 = ___ 

3 X 3 = ___ 

8 X 6 = ___ 

6 X 7 = ___ 

9 X 4= ___ 

5 X 7 = ___ 
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